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(a) Iris template (b) Corresponding mask

(c) and (d) Real and imaginary part of the convolved iris image
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(a) Eye image (b) Inner and outer

boundaries

(c) Iris portion in the

eye image

(d) Mask for the noise present

in the iris image

(e) Mask applied to the

unwrapped iris image

(f) Iris template
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EULER VECTOR

IMAGE 1 -72 64 140 -365

IMAGE 2 -62 84 148 -371

IMAGE 3 -63 75 145 -368
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Iris  Detect

Is mask area

greater than 40%

Feature Encoding

Image Not Suitable for

Database Enrollment

Eye Image

Yes

No

Features Stored in Database

Iris Texture

Template
Euler Code

Matching
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Database

Eye Image
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Feature Encoding
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greater than 40%

Iris  Detect

Iris Template Euler Code
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Accept/ Reject

(a)

(b)
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